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16. A container of fixed volume has a mixture of one mole of hydrogen and one mole of helium in 
equilibrium at temperature T. Assuming the gases are ideal, the correct statement(s) is(are) 
 
(A) The average energy per mole of the gas mixture is 2RT. 

(B) The ratio of speed of sound in the gas mixture to that in helium gas isට6 5ൗ . 

(C) The ratio of the rms speed of helium atoms to that of hydrogen molecules is 1/2. 
(D) The ratio of the rms speed of helium atoms to that of hydrogen molecules is 1

√2ൗ . 

Answer: 
 
݂݋ ݏ݈݁݋݉ ݂݋ ݎܾ݁݉ݑܰ ሺ݊ଵሻ݊݁݃݋ݎ݃݀ݕ݄
ൌ ሺ݊ଶሻ݉ݑ݈݅݁ܪ ݂݋ ݏ݈݁݋݉ ݂݋ ݎܾ݁݉ݑܰ ൌ 1 

ଵܯ ൌ ݊݁݃݋ݎ݀ݕ݄ ݂݋ ݐ݄݃݅݁ݓ ݎ݈ܽݑ݈ܿ݁݋݉ ൌ 2 
 
ଶܯ ൌ ݉ݑ݈݄݅݁ ݂݋ ݐ݄݃݅݁ݓ ݎ݈ܽݑ݈ܿ݁݋݉ ൌ 4 
 

௠௜௫ܯ ൌ
݊ଵܯଵ ൅ ݊ଶܯଶ

݊ଵ ൅ ݊ଶ
ൌ
1 ൈ 2 ൅ 1 ൈ 4

1 ൅ 1
ൌ 3 

 
For Helium: Monatomic, double bond, degree 

of freedom=3, ߛு௘ ൌ
஼೛ಹ೐
஼ೡಹ೐

ൌ 1.44 
For Hydrogen : It is diatomic, single bond, 

degree of freedom=5,ߛுమ ൌ
஼೛ಹమ
஼ೡಹమ

ൌ 1.66 

Putting respective values of Specific heat 
capacity at constant pressure and Sp. Heat 
capacity at constant volume 

௠௜௫ߛ ൌ

݊ଵܥ௣ுమ ൅ ݊ଶܥ௣ு௘
݊ଵ ൅ ݊ଶ

݊ଵܥ௩ுమ ൅ ݊ଶܥ௩ு௘
݊ଵ ൅ ݊ଶ

ൌ

1 ൈ 5
2 ൅ 1 ൈ 72
1 ൅ 1

1 ൈ 3
2 ൅ 1 ൈ 52
1 ൅ 1

ൌ
12
8 ൌ

3
2 

 
 

 
Option (A) :  

Average Energy =
ଵ
ଶ
݊ଵ ଵ݂ܴܶ ൅

ଵ
ଶ
݊ଶ ଶ݂ܴܶ ൌ

ଷ
ଶ
ܴܶ ൅ ହ

ଶ
ܴܶ ൌ 4ܴܶ 

݊ଵ ൅ ݊ଶ ൌ 2 
Therefore Average Energy per mole=

ସோ்
ଶ
ൌ 2ܴܶ 

[Option (A) is correct.] 
 
Option (B) 

ܸ ൌ ඨܴܶߛ
ܯ

 ݁ܿ݊݁ܪ  ௠ܸ௜௫

ுܸ௘
ൌ ඨ

௠௜௫ߛ ൈ ு௘ܯ

௠௜௫ܯ ൈ ு௘ߛ
 

ൌ ඨ
య
మൈସ

ଷൈఱయ
ൌ ට଺

ହ
  [Option B is correct.] 

 
Option (C) & (D):  Root mean square velocity 
 

We know  ௥ܸ௠௦ ൌ ටଷோ்
ெ
 , ௏ೝ೘ೞಹ೐
௏ೝ೘ೞಹమ

ൌ ටெಹమ
ெಹ೐

ൌ ටଵ
ଶ
 

[ Option (D) is also correct] 
 
Correct options are (A), (B) and (D) 

 


